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Let x+y=11 and x*+ y* =325. What is the Let x+y=11 and x*+ y*=325. What is the
value of x* + y*? value of x*+ y°?
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ages?
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real and i =+/-1, what is the reciprocal of real and i =+/-1, what is the reciprocal of
2-7i7 2-7i7?
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A finite arithmetic series has sum —-120. The
first term of the series is 13 while the common
difference of the series is —3. How many
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minutes; Rob can solve the same set of
problems in 30 minutes. How many minutes
would it take them to solve the entire set if
they work together independently and
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